Hill' Climbing Algorithm

* Policy m={0,, ..., 6,5}, V(1) = walk speed when using 1t

» Evaluatet (15) policiesin the neighborhood of 1t

* From 11, move towards the best neighboring policy
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Policy Gradient RL

* Policy m={0,, ..., 6,5}, V(1) = walk speed when using 1t

* From 11, move in the direction of the gradient of V()
» Can't compute gradient directly: estimate empirically

 Evaluate neighboring policies to estimate gradient

IV(n) V(n)
/ '\ > ? AA

S T e Nate Kohl




Policy Gradient RL

* Determine 3 aver age values for each dimension

e Compute an adjustment vector A:
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